Transportation Planning Board Modified Equity Emphasis Areas: Loudoun County data by tract DRAFT - 2/8/2016

U.S. Census, American Community Survey, 2010 - 2014 5-Year Estimates Analysis by Transportation Planning Board staff The Transportation Planning Board's Equity Emphasis Areas identifies U.S. Census tracts with significant concentrations of low-income and/or minority populations throughouth the Washington region. To be identified as an Equity Emphasis Area, a tract must have a concentration of individuals identified as low-income more than one-and-a-half times the regional average (Criteria 1) or varying level of minority concentration depending on the degree of low-income concentration (Criteria 2). See methodology for detailed description.

Criteria 1 Scoring

RATIO OF CONCENTRATION (ROC or times the regional	INDEX SCORE
average)	Low-Income*
Between 1.5 and 3.0	4.5 to 9.0
Greater than 3.0	9.0
Index Score	4.5 to 9.0
☑ Equity Emphasis Area ☐ Not an Equity Emphasis Area	` '

Criteria 2 Scoring

RATIO OF		INDEX	SCORE		
CONCENTRATION (ROC or times the regional average)	Low- Income*	African American	Asian	Hispanic or Latino	
Less than 1.0	0	0	0	0	
Between 1.0 and 1.49	1.0 to 1.49	U	U	U	
Between 1.5 and 3.0	See Criteria 1 (4.5 to 9.0)	1.5 to 3.0	1.5 to 3.0	1.5 to 3.0	
Greater than 3.0	See Criteria 1 (9.0)	3.0	3.0	3.0	
Total Index Score	Index scores are totaled (ranging from 0 to 10.49)				
□ No	☑ Equity Ent an Equity Em	•	, , ,	$Index \ge 4.00)$ $Index < 4.00)$	

^{*}Household income 1.5 times or below the federal poverty level.

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6101.01	Tract Percent	7.5%	1.3%	2.1%	1.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.542	0.049	0.201	0.102
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6101.02	Tract Percent	3.5%	2.1%	1.2%	3.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.254	0.079	0.118	0.246
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6102.01	Tract Percent	8.2%	1.1%	3.6%	3.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.594	0.043	0.346	0.221
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6102.02	Tract Percent	5.6%	1.0%	2.6%	7.2%
		13.8%	26.2%	10.3%	15.2%
	Regional Average				
	Ratio of Concentration	0.403	0.037	0.251	0.470
	Ratio of Concentration (times Regional Average)	0.403	0.037		0.470
	Ratio of Concentration (times Regional Average) Index Score	0.403		0.251	
	Ratio of Concentration (times Regional Average)	0.403	0.037		0.470
	Ratio of Concentration (times Regional Average) Index Score	0.403 0.00 0.00	0.037	0.00	0.470
Tuest 0400	Ratio of Concentration (times Regional Average) Index Score Total Index:	0.403 0.00 0.00 Low-Income	0.037 0.00 African American	0.00 Asian	0.470 0.00 Hispanic or Latino
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.403 0.00 0.00 Low-Income 5.0%	0.037 0.00 African American 2.4%	0.00 Asian 3.3%	0.470 0.00 Hispanic or Latino 7.5%
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.403 0.00 0.00 Low-Income 5.0% 13.8%	0.037 0.00 African American 2.4% 26.2%	0.00 Asian 3.3% 10.3%	0.470 0.00 Hispanic or Latino 7.5% 15.2%
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.403 0.00 0.00 Low-Income 5.0%	0.037 0.00 African American 2.4%	0.00 Asian 3.3%	0.470 0.00 Hispanic or Latino 7.5%
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363	0.037 0.00 African American 2.4% 26.2% 0.090	0.00 Asian 3.3% 10.3% 0.321	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363	0.037 0.00 African American 2.4% 26.2%	0.00 Asian 3.3% 10.3%	0.470 0.00 Hispanic or Latino 7.5% 15.2%
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363	0.037 0.00 African American 2.4% 26.2% 0.090	0.00 Asian 3.3% 10.3% 0.321	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495
Tract 6103	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 0.00	0.037 0.00 African American 2.4% 26.2% 0.090 0.00	0.00 Asian 3.3% 10.3% 0.321	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino
Tract 6103 Tract 6104	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6%	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4%	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2%	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6% 13.8%	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4% 26.2%	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2% 10.3%	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9% 15.2%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6%	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4%	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2%	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6% 13.8% 0.621	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4% 26.2% 0.205	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2% 10.3% 0.218	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9% 15.2% 0.780
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6% 13.8% 0.621 0.00	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4% 26.2%	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2% 10.3%	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9% 15.2%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.403 0.00 0.00 Low-Income 5.0% 13.8% 0.363 0.00 Low-Income 8.6% 13.8% 0.621	0.037 0.00 African American 2.4% 26.2% 0.090 0.00 African American 5.4% 26.2% 0.205	0.00 Asian 3.3% 10.3% 0.321 0.00 Asian 2.2% 10.3% 0.218	0.470 0.00 Hispanic or Latino 7.5% 15.2% 0.495 0.00 Hispanic or Latino 11.9% 15.2% 0.780

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6105.03	Tract Percent	2.2%	12.3%	12.7%	7.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.163	0.468	1.235	0.497
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6105.04	Tract Percent	8.3%	8.6%	8.1%	12.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.600	0.329	0.787	0.784
	(times Regional Average)	0.00	0.00	0.00	0.00
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6105.05	Tract Percent	32.2%	6.8%	8.8%	58.5%
11400 0100.00	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	2.332	0.258	0.859	3.839
	(times Regional Average)	2.552	0.230	0.000	3.000
	Index Score	6.99	0.00	0.00	3.00
	Total Index:	9.99			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6105.06	Tract Percent	Low-Income 17.6%	African American 8.5%	Asian 16.4%	26.6%
Tract 6105.06	Regional Average	17.6% 13.8%	8.5% 26.2%	16.4% 10.3%	26.6% 15.2%
Tract 6105.06	Regional Average Ratio of Concentration	17.6%	8.5%	16.4%	26.6%
Tract 6105.06	Regional Average Ratio of Concentration (times Regional Average)	17.6% 13.8% 1.277	8.5% 26.2% 0.324	16.4% 10.3% 1.603	26.6% 15.2% 1.748
Tract 6105.06	Regional Average Ratio of Concentration (times Regional Average) Index Score	17.6% 13.8% 1.277 1.28	8.5% 26.2%	16.4% 10.3%	26.6% 15.2%
Tract 6105.06	Regional Average Ratio of Concentration (times Regional Average)	17.6% 13.8% 1.277	8.5% 26.2% 0.324	16.4% 10.3% 1.603	26.6% 15.2% 1.748
Tract 6105.06	Regional Average Ratio of Concentration (times Regional Average) Index Score	17.6% 13.8% 1.277 1.28 4.63	8.5% 26.2% 0.324	16.4% 10.3% 1.603	26.6% 15.2% 1.748 1.75
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	17.6% 13.8% 1.277 1.28 4.63	8.5% 26.2% 0.324 0.00	16.4% 10.3% 1.603 1.60	26.6% 15.2% 1.748 1.75 Hispanic or Latino
Tract 6105.06 Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4%	8.5% 26.2% 0.324 0.00 African American 7.3%	16.4% 10.3% 1.603 1.60 Asian 11.7%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8%	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4%	8.5% 26.2% 0.324 0.00 African American 7.3%	16.4% 10.3% 1.603 1.60 Asian 11.7%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 0.00	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 0.00
Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 0.00 Low-Income	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 Low-Income 4.4%	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American 6.9%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian 0.9%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 O.00 Hispanic or Latino 8.6%
Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 Low-Income 4.4% 13.8%	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American 6.9% 26.2%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 O.00 Hispanic or Latino 8.6% 15.2%
Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 Low-Income 4.4%	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American 6.9%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian 0.9% 10.3%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 O.00 Hispanic or Latino 8.6%
Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 Low-Income 4.4% 13.8%	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American 6.9% 26.2%	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian 0.9% 10.3%	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 O.00 Hispanic or Latino 8.6% 15.2%
Tract 6105.07	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	17.6% 13.8% 1.277 1.28 4.63 Low-Income 4.4% 13.8% 0.321 0.00 Low-Income 4.4% 13.8% 0.318	8.5% 26.2% 0.324 0.00 African American 7.3% 26.2% 0.277 0.00 African American 6.9% 26.2% 0.263	16.4% 10.3% 1.603 1.60 Asian 11.7% 10.3% 1.136 0.00 Asian 0.9% 10.3% 0.090	26.6% 15.2% 1.748 1.75 Hispanic or Latino 3.8% 15.2% 0.250 0.00 Hispanic or Latino 8.6% 15.2% 0.563

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6106.02	Tract Percent	0.8%	3.1%	9.8%	11.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.057	0.117	0.951	0.762
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6106.03	Tract Percent	17.4%	8.9%	7.8%	20.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.263	0.338	0.763	1.330
	(times Regional Average)				
	Index Score	1.26	0.00	0.00	0.00
	Total Index:	1.26			
				<u> </u>	
T 101000	 T	Low-Income	African American	Asian	Hispanic or Latino
Tract 6106.04	Tract Percent	3.8%	5.0%	10.1%	12.9%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.274	0.191	0.989	0.844
	(times Regional Average)	0.00	0.00	0.00	0.00
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		L avv la a a sa	African Anagrican	Acion	Hispania and ating
Tue et 6407.04	Tract Dargant	Low-Income	African American	Asian	Hispanic or Latino
Tract 6107.01	Tract Percent	7.3%	1.7%	3.6%	8.9%
Tract 6107.01	Regional Average	7.3% 13.8%	1.7% 26.2%	3.6% 10.3%	8.9% 15.2%
Tract 6107.01	Regional Average Ratio of Concentration	7.3%	1.7%	3.6%	8.9%
Tract 6107.01	Regional Average Ratio of Concentration (times Regional Average)	7.3% 13.8% 0.531	1.7% 26.2% 0.063	3.6% 10.3% 0.353	8.9% 15.2% 0.583
Tract 6107.01	Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531	1.7% 26.2%	3.6% 10.3%	8.9% 15.2%
Tract 6107.01	Regional Average Ratio of Concentration (times Regional Average)	7.3% 13.8% 0.531	1.7% 26.2% 0.063	3.6% 10.3% 0.353	8.9% 15.2% 0.583
Tract 6107.01	Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531 0.00	1.7% 26.2% 0.063 0.00	3.6% 10.3% 0.353 0.00	8.9% 15.2% 0.583
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	7.3% 13.8% 0.531 0.00 0.00	1.7% 26.2% 0.063 0.00	3.6% 10.3% 0.353 0.00	8.9% 15.2% 0.583 0.00
Tract 6107.01 Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1%	1.7% 26.2% 0.063 0.00 African American 5.2%	3.6% 10.3% 0.353 0.00 Asian 2.2%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8%	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2%	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1%	1.7% 26.2% 0.063 0.00 African American 5.2%	3.6% 10.3% 0.353 0.00 Asian 2.2%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8%	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2%	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531 0.00 Low-Income 9.1% 13.8% 0.658	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531 0.00 Low-Income 9.1% 13.8% 0.658	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 0.00	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American 2.9%	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00
Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 Low-Income	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00 Hispanic or Latino
Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 Low-Income 1.9%	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American 2.9%	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217 0.00 Asian 3.6%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00 Hispanic or Latino 11.7%
Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 Low-Income 1.9% 13.8% 0.140	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American 2.9% 26.2% 0.109	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217 0.00 Asian 3.6% 10.3% 0.349	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00 Hispanic or Latino 11.7% 15.2% 0.769
Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Regional Average Ratio of Concentration (times Regional Average) Index Score	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 Low-Income 1.9% 13.8% 0.140 0.00	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American 2.9% 26.2%	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217 0.00 Asian 3.6% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00 Hispanic or Latino 11.7% 15.2%
Tract 6107.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	7.3% 13.8% 0.531 0.00 0.00 Low-Income 9.1% 13.8% 0.658 0.00 Low-Income 1.9% 13.8% 0.140	1.7% 26.2% 0.063 0.00 African American 5.2% 26.2% 0.198 0.00 African American 2.9% 26.2% 0.109	3.6% 10.3% 0.353 0.00 Asian 2.2% 10.3% 0.217 0.00 Asian 3.6% 10.3% 0.349	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.0% 15.2% 0.523 0.00 Hispanic or Latino 11.7% 15.2% 0.769

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6108	Tract Percent	5.8%	4.9%	1.1%	6.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.418	0.187	0.108	0.410
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6109	Tract Percent	12.5%	15.3%	0.4%	4.1%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.903	0.582	0.042	0.267
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.02	Tract Percent	19.3%	9.9%	22.1%	22.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.398	0.376	2.156	1.488
	(times Regional Average)				
	Index Score	1.40	0.00	2.16	0.00
	Total Index:	3.56			
		1 1	A f	A a : a .a	I Diamagnia and Lastina
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.04	Tract Percent	5.3%	8.4%	11.5%	8.9%
Tract 6110.04	Regional Average	5.3% 13.8%	8.4% 26.2%	11.5% 10.3%	8.9% 15.2%
Tract 6110.04	Regional Average Ratio of Concentration	5.3%	8.4%	11.5%	8.9%
Tract 6110.04	Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384	8.4% 26.2% 0.319	11.5% 10.3% 1.123	8.9% 15.2% 0.583
Tract 6110.04	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.3% 13.8% 0.384	8.4% 26.2%	11.5% 10.3%	8.9% 15.2%
Tract 6110.04	Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384	8.4% 26.2% 0.319	11.5% 10.3% 1.123	8.9% 15.2% 0.583
Tract 6110.04	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.3% 13.8% 0.384 0.00	8.4% 26.2% 0.319	11.5% 10.3% 1.123 0.00	8.9% 15.2% 0.583
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.3% 13.8% 0.384 0.00 0.00	8.4% 26.2% 0.319 0.00	11.5% 10.3% 1.123 0.00	8.9% 15.2% 0.583 0.00 Hispanic or Latino
Tract 6110.04 Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1%	8.4% 26.2% 0.319 0.00 African American 8.7%	11.5% 10.3% 1.123 0.00 Asian 11.8%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8%	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1%	8.4% 26.2% 0.319 0.00 African American 8.7%	11.5% 10.3% 1.123 0.00 Asian 11.8%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income 3.0%	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1%
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income 3.0% 13.8%	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8% 26.2%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1% 15.2%
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income 3.0%	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1%
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income 3.0% 13.8% 0.216	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8% 26.2% 0.259	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4% 10.3% 1.500	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1% 15.2% 0.726
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index:	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 Low-Income 3.0% 13.8% 0.216	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8% 26.2%	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4% 10.3%	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1% 15.2%
Tract 6110.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.3% 13.8% 0.384 0.00 0.00 Low-Income 6.1% 13.8% 0.444 0.00 0.00 Low-Income 3.0% 13.8% 0.216	8.4% 26.2% 0.319 0.00 African American 8.7% 26.2% 0.334 0.00 African American 6.8% 26.2% 0.259	11.5% 10.3% 1.123 0.00 Asian 11.8% 10.3% 1.154 0.00 Asian 15.4% 10.3% 1.500	8.9% 15.2% 0.583 0.00 Hispanic or Latino 8.9% 15.2% 0.583 0.00 Hispanic or Latino 11.1% 15.2% 0.726

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.09	Tract Percent	0.4%	7.3%	16.8%	11.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.031	0.279	1.635	0.721
	(times Regional Average)				
	Index Score	0.00	0.00	1.64	0.00
	Total Index:	1.64			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.1	Tract Percent	2.1%	10.1%	4.3%	0.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.155	0.387	0.417	0.051
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
			A.C.: A. :	A :	
Tro at 0440 44	Tue et Deve e :- t	Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.11	Tract Percent	8.0%	13.1%	18.9%	12.1%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.582	0.500	1.846	0.795
	(times Regional Average) Index Score	0.00	0.00	1.85	0.00
	Total Index:	1.85	0.00	1.65	0.00
	Total index.	1.65			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.12	Tract Percent	Low-Income 1.8%	African American 4.1%	Asian 25.5%	Hispanic or Latino 0.6%
Tract 6110.12	Tract Percent Regional Average	1.8%	4.1%	25.5%	0.6%
Tract 6110.12	Regional Average	1.8% 13.8%	4.1% 26.2%	25.5% 10.3%	0.6% 15.2%
Tract 6110.12	Regional Average Ratio of Concentration	1.8%	4.1%	25.5%	0.6%
Tract 6110.12	Regional Average	1.8% 13.8%	4.1% 26.2%	25.5% 10.3%	0.6% 15.2%
Tract 6110.12	Regional Average Ratio of Concentration (times Regional Average)	1.8% 13.8% 0.129	4.1% 26.2% 0.157	25.5% 10.3% 2.490	0.6% 15.2% 0.041
Tract 6110.12	Regional Average Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129	4.1% 26.2% 0.157	25.5% 10.3% 2.490	0.6% 15.2% 0.041
Tract 6110.12	Regional Average Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129	4.1% 26.2% 0.157	25.5% 10.3% 2.490 2.49 Asian	0.6% 15.2% 0.041
Tract 6110.12	Regional Average Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2%	4.1% 26.2% 0.157 0.00 African American 4.2%	25.5% 10.3% 2.490 2.49 Asian 19.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8%	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2%	4.1% 26.2% 0.157 0.00 African American 4.2%	25.5% 10.3% 2.490 2.49 Asian 19.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1%	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0%
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1% 13.8%	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7% 26.2%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2% 10.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0% 15.2%
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1%	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0%
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1% 13.8% 0.735	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7% 26.2% 0.370	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2% 10.3% 0.892	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0% 15.2% 1.315
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1% 13.8% 0.735	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7% 26.2%	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2% 10.3%	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0% 15.2%
Tract 6110.13	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	1.8% 13.8% 0.129 0.00 2.49 Low-Income 3.2% 13.8% 0.231 0.00 1.88 Low-Income 10.1% 13.8% 0.735	4.1% 26.2% 0.157 0.00 African American 4.2% 26.2% 0.161 0.00 African American 9.7% 26.2% 0.370	25.5% 10.3% 2.490 2.49 Asian 19.3% 10.3% 1.879 1.88 Asian 9.2% 10.3% 0.892	0.6% 15.2% 0.041 0.00 Hispanic or Latino 8.8% 15.2% 0.576 0.00 Hispanic or Latino 20.0% 15.2% 1.315

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.15	Tract Percent	1.1%	11.0%	23.6%	18.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.077	0.419	2.302	1.231
	(times Regional Average)				
	Index Score	0.00	0.00	2.30	0.00
	Total Index:	2.30			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.16	Tract Percent	3.4%	9.4%	12.2%	8.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.247	0.360	1.188	0.554
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.17	Tract Percent	3.2%	7.1%	13.2%	4.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.234	0.273	1.288	0.285
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.18	Tract Percent	8.0%	19.4%	11.4%	11.1%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Regional Average Ratio of Concentration	13.8% 0.582	26.2% 0.740	10.3% 1.113	
	Regional Average Ratio of Concentration (times Regional Average)	0.582	0.740	1.113	15.2% 0.726
	Regional Average Ratio of Concentration (times Regional Average) Index Score	0.582			15.2%
	Regional Average Ratio of Concentration (times Regional Average)	0.582	0.740	1.113	15.2% 0.726
	Regional Average Ratio of Concentration (times Regional Average) Index Score	0.582 0.00 0.00	0.740	0.00	15.2% 0.726 0.00
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	0.582 0.00 0.00 Low-Income	0.740 0.00 African American	1.113 0.00 Asian	15.2% 0.726 0.00 Hispanic or Latino
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.582 0.00 0.00 Low-Income 2.4%	0.740 0.00 African American 5.4%	1.113 0.00 Asian 22.0%	15.2% 0.726 0.00 Hispanic or Latino 8.6%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.582 0.00 0.00 Low-Income 2.4% 13.8%	0.740 0.00 African American 5.4% 26.2%	1.113 0.00 Asian 22.0% 10.3%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.582 0.00 0.00 Low-Income 2.4%	0.740 0.00 African American 5.4%	1.113 0.00 Asian 22.0%	15.2% 0.726 0.00 Hispanic or Latino 8.6%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176	0.740 0.00 African American 5.4% 26.2% 0.204	1.113 0.00 Asian 22.0% 10.3% 2.141	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176	0.740 0.00 African American 5.4% 26.2%	1.113 0.00 Asian 22.0% 10.3%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176	0.740 0.00 African American 5.4% 26.2% 0.204	1.113 0.00 Asian 22.0% 10.3% 2.141	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14	0.740 0.00 African American 5.4% 26.2% 0.204	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4%	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2%	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4%
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4% 13.8%	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2% 26.2%	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5% 10.3%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4% 15.2%
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4%	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2%	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4%
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4% 13.8% 0.969	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2% 26.2% 0.464	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5% 10.3% 1.997	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4% 15.2% 0.620
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4% 13.8% 0.969 0.00	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2% 26.2%	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5% 10.3%	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4% 15.2%
Tract 6110.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.582 0.00 0.00 Low-Income 2.4% 13.8% 0.176 0.00 2.14 Low-Income 13.4% 13.8% 0.969	0.740 0.00 African American 5.4% 26.2% 0.204 0.00 African American 12.2% 26.2% 0.464	1.113 0.00 Asian 22.0% 10.3% 2.141 2.14 Asian 20.5% 10.3% 1.997	15.2% 0.726 0.00 Hispanic or Latino 8.6% 15.2% 0.566 0.00 Hispanic or Latino 9.4% 15.2% 0.620

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.21	Tract Percent	1.4%	5.4%	38.4%	5.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.099	0.208	3.748	0.366
	(times Regional Average)				
	Index Score	0.00	0.00	3.00	0.00
	Total Index:	3.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.22	Tract Percent	2.1%	11.1%	29.7%	4.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.151	0.422	2.894	0.277
	(times Regional Average)				
	Index Score	0.00	0.00	2.89	0.00
	Total Index:	2.89			
			A.C		
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.23	Tract Percent	2.2%	3.8%	11.4%	6.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.160	0.146	1.111	0.415
	(times Regional Average) Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00	0.00	0.00	0.00
	Total index.	0.00			
		1			
		l Low-Income	African American	Asian	Hispanic or Latino
Tract 6110.24	Tract Percent	Low-Income 5.4%	African American 7.1%	Asian 11.8%	Hispanic or Latino 4.4%
Tract 6110.24	Tract Percent Regional Average	5.4%	7.1%	11.8%	4.4%
Tract 6110.24	Regional Average	5.4% 13.8%	7.1% 26.2%	11.8% 10.3%	4.4% 15.2%
Tract 6110.24	Regional Average Ratio of Concentration	5.4%	7.1%	11.8%	4.4%
Tract 6110.24	Regional Average	5.4% 13.8%	7.1% 26.2%	11.8% 10.3%	4.4% 15.2%
Tract 6110.24	Regional Average Ratio of Concentration (times Regional Average)	5.4% 13.8% 0.391	7.1% 26.2% 0.269	11.8% 10.3% 1.154	4.4% 15.2% 0.287
Tract 6110.24	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.4% 13.8% 0.391	7.1% 26.2% 0.269	11.8% 10.3% 1.154	4.4% 15.2% 0.287
Tract 6110.24	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.4% 13.8% 0.391	7.1% 26.2% 0.269	11.8% 10.3% 1.154 0.00	4.4% 15.2% 0.287
Tract 6110.24 Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0%	7.1% 26.2% 0.269 0.00 African American 8.3%	11.8% 10.3% 1.154 0.00 Asian 23.1%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8%	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2%	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0%	7.1% 26.2% 0.269 0.00 African American 8.3%	11.8% 10.3% 1.154 0.00 Asian 23.1%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.4% 13.8% 0.391 0.00 1.00 Low-Income 4.0% 13.8% 0.289 0.00	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2%	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9%	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2%
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9% 13.8%	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American 8.0% 26.2%	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2% 10.3%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2% 15.2%
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9%	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2%
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9% 13.8% 0.574	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American 8.0% 26.2% 0.306	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2% 10.3% 0.997	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2% 15.2% 0.801
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9% 13.8% 0.574	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American 8.0% 26.2%	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2% 10.3%	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2% 15.2%
Tract 6110.25	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.4% 13.8% 0.391 0.00 0.00 Low-Income 4.0% 13.8% 0.289 0.00 2.26 Low-Income 7.9% 13.8% 0.574	7.1% 26.2% 0.269 0.00 African American 8.3% 26.2% 0.317 0.00 African American 8.0% 26.2% 0.306	11.8% 10.3% 1.154 0.00 Asian 23.1% 10.3% 2.256 2.26 Asian 10.2% 10.3% 0.997	4.4% 15.2% 0.287 0.00 Hispanic or Latino 6.9% 15.2% 0.452 0.00 Hispanic or Latino 12.2% 15.2% 0.801

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6111.02	Tract Percent	2.1%	4.3%	7.7%	12.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.152	0.166	0.747	0.803
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6112.02	Tract Percent	2.1%	8.1%	11.0%	5.5%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.149	0.308	1.068	0.361
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6112.04	Tract Percent	14.1%	10.6%	12.6%	31.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.023	0.404	1.229	2.063
	(times Regional Average)	1.00	0.00	0.00	0.00
	Index Score	1.02	0.00	0.00	2.06
	Total Index:	3.08		_	
		Loughagana	African American	Anion	Highania ar Latina
Troot 6112.05	Tract Percent	Low-Income	African American	Asian	Hispanic or Latino
Tract 6112.05	Tract Percent	16.8%	11.1%	22.7%	21.7%
Tract 6112.05	Regional Average	16.8% 13.8%	11.1% 26.2%	22.7% 10.3%	21.7% 15.2%
Tract 6112.05	Regional Average Ratio of Concentration	16.8%	11.1%	22.7%	21.7%
Tract 6112.05	Regional Average Ratio of Concentration (times Regional Average)	16.8% 13.8% 1.214	11.1% 26.2% 0.424	22.7% 10.3% 2.217	21.7% 15.2% 1.424
Tract 6112.05	Regional Average Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21	11.1% 26.2%	22.7% 10.3%	21.7% 15.2%
Tract 6112.05	Regional Average Ratio of Concentration (times Regional Average)	16.8% 13.8% 1.214	11.1% 26.2% 0.424	22.7% 10.3% 2.217	21.7% 15.2% 1.424
Tract 6112.05	Regional Average Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21 3.43	11.1% 26.2% 0.424 0.00	22.7% 10.3% 2.217 2.22	21.7% 15.2% 1.424 0.00
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	16.8% 13.8% 1.214 1.21 3.43	11.1% 26.2% 0.424 0.00	22.7% 10.3% 2.217 2.22 Asian	21.7% 15.2% 1.424 0.00
Tract 6112.05 Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0%	11.1% 26.2% 0.424 0.00 African American 6.7%	22.7% 10.3% 2.217 2.22 Asian 13.7%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8%	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2%	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0%	11.1% 26.2% 0.424 0.00 African American 6.7%	22.7% 10.3% 2.217 2.22 Asian 13.7%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8%	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2%	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 0.00	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952
Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 Low-Income	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254 0.00 African American	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336 0.00	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952 0.00 Hispanic or Latino
Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 Low-Income 3.3%	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254 0.00 African American 7.3%	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336 0.00 Asian 22.5%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952 0.00 Hispanic or Latino 7.7%
Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 Low-Income 3.3% 13.8% 0.240	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254 0.00 African American 7.3% 26.2% 0.280	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336 0.00 Asian 22.5% 10.3% 2.192	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952 0.00 Hispanic or Latino 7.7% 15.2% 0.506
Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 Low-Income 3.3% 13.8% 0.240 0.00	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254 0.00 African American 7.3% 26.2%	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336 0.00 Asian 22.5% 10.3%	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952 0.00 Hispanic or Latino 7.7% 15.2%
Tract 6112.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	16.8% 13.8% 1.214 1.21 3.43 Low-Income 6.0% 13.8% 0.431 0.00 Low-Income 3.3% 13.8% 0.240	11.1% 26.2% 0.424 0.00 African American 6.7% 26.2% 0.254 0.00 African American 7.3% 26.2% 0.280	22.7% 10.3% 2.217 2.22 Asian 13.7% 10.3% 1.336 0.00 Asian 22.5% 10.3% 2.192	21.7% 15.2% 1.424 0.00 Hispanic or Latino 14.5% 15.2% 0.952 0.00 Hispanic or Latino 7.7% 15.2% 0.506

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6112.08	Tract Percent	5.2%	8.1%	20.2%	8.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.380	0.308	1.970	0.546
	(times Regional Average)				
	Index Score	0.00	0.00	1.97	0.00
	Total Index:	1.97			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6112.09	Tract Percent	2.9%	1.9%	14.6%	7.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.210	0.072	1.428	0.510
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low boots	Africas Assertes	Asian	Highania and attention
Tue et C440	Two at Days and	Low-Income	African American	Asian	Hispanic or Latino
Tract 6113	Tract Percent	9.8%	8.7%	11.3%	35.9%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration (times Regional Average)	0.712	0.333	1.102	2.357
	Index Score	0.00	0.00	0.00	2.36
	Total Index:	2.36	0.00	0.00	2.30
	Total Index.	2.50			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6114	Tract Percent	Low-Income 10.7%	African American 9.1%	Asian 5.6%	Hispanic or Latino 41.1%
Tract 6114	Tract Percent Regional Average	10.7%	African American 9.1% 26.2%	Asian 5.6% 10.3%	41.1%
Tract 6114	Tract Percent Regional Average Ratio of Concentration		9.1%	5.6%	
Tract 6114	Regional Average	10.7% 13.8%	9.1% 26.2%	5.6% 10.3%	41.1% 15.2%
Tract 6114	Regional Average Ratio of Concentration (times Regional Average) Index Score	10.7% 13.8%	9.1% 26.2%	5.6% 10.3%	41.1% 15.2%
Tract 6114	Regional Average Ratio of Concentration (times Regional Average)	10.7% 13.8% 0.774	9.1% 26.2% 0.346	5.6% 10.3% 0.546	41.1% 15.2% 2.693
Tract 6114	Regional Average Ratio of Concentration (times Regional Average) Index Score	10.7% 13.8% 0.774	9.1% 26.2% 0.346	5.6% 10.3% 0.546	41.1% 15.2% 2.693
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	10.7% 13.8% 0.774 0.00 2.69	9.1% 26.2% 0.346	5.6% 10.3% 0.546 0.00	41.1% 15.2% 2.693
Tract 6114 Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4%	9.1% 26.2% 0.346 0.00 African American 13.7%	5.6% 10.3% 0.546 0.00 Asian 17.1%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8%	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4%	9.1% 26.2% 0.346 0.00 African American 13.7%	5.6% 10.3% 0.546 0.00 Asian 17.1%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 Asian	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 1.83 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3%	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6%
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3% 13.8%	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4% 26.2%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8% 10.3%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6% 15.2%
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3%	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6%
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3% 13.8% 1.037	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4% 26.2% 0.246	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8% 10.3% 1.734	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6% 15.2% 1.482
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index:	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3% 13.8% 1.037	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4% 26.2%	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8% 10.3%	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6% 15.2%
Tract 6115.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	10.7% 13.8% 0.774 0.00 2.69 Low-Income 23.4% 13.8% 1.692 5.07 8.56 Low-Income 14.3% 13.8% 1.037	9.1% 26.2% 0.346 0.00 African American 13.7% 26.2% 0.523 0.00 African American 6.4% 26.2% 0.246	5.6% 10.3% 0.546 0.00 Asian 17.1% 10.3% 1.664 1.66 Asian 17.8% 10.3% 1.734	41.1% 15.2% 2.693 2.69 Hispanic or Latino 27.9% 15.2% 1.832 Hispanic or Latino 22.6% 15.2% 1.482

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6116.01	Tract Percent	13.0%	12.3%	20.5%	16.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.944	0.471	1.996	1.078
	(times Regional Average)				
	Index Score	0.00	0.00	2.00	0.00
	Total Index:	2.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6116.02	Tract Percent	20.4%	3.1%	6.8%	55.9%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.480	0.117	0.666	3.669
	(times Regional Average)				
	Index Score	1.48	0.00	0.00	3.00
	Total Index:	4.48			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6117	Tract Percent	14.7%	7.4%	17.5%	36.5%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.068	0.281	1.705	2.397
	(times Regional Average)				
	Index Score	1.07	0.00	1.71	2.40
	Total Index:	5.18			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6118.01	Tract Percent	2.5%	7.7%	26.9%	8.4%
Tract 6118.01	Regional Average	13.8%	26.2%	10.3%	15.2%
Tract 6118.01	Regional Average Ratio of Concentration				
Tract 6118.01	Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179	26.2% 0.292	10.3% 2.622	15.2% 0.554
Tract 6118.01	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.8% 0.179 0.00	26.2%	10.3%	15.2%
Tract 6118.01	Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179	26.2% 0.292	10.3% 2.622	15.2% 0.554
Tract 6118.01	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.8% 0.179 0.00 2.62	26.2% 0.292 0.00	10.3% 2.622 2.62	15.2% 0.554 0.00
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.8% 0.179 0.00 2.62 Low-Income	26.2% 0.292 0.00	10.3% 2.622 2.62 Asian	15.2% 0.554 0.00 Hispanic or Latino
Tract 6118.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.8% 0.179 0.00 2.62 Low-Income 1.9%	26.2% 0.292 0.00 African American 6.9%	10.3% 2.622 2.62 Asian 39.1%	15.2% 0.554 0.00 Hispanic or Latino 9.0%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8%	26.2% 0.292 0.00 African American 6.9% 26.2%	10.3% 2.622 2.62 Asian 39.1% 10.3%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.8% 0.179 0.00 2.62 Low-Income 1.9%	26.2% 0.292 0.00 African American 6.9%	10.3% 2.622 2.62 Asian 39.1%	15.2% 0.554 0.00 Hispanic or Latino 9.0%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138	26.2% 0.292 0.00 African American 6.9% 26.2%	10.3% 2.622 2.62 Asian 39.1% 10.3%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00 Low-Income 7.3%	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1%	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7%
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00 Low-Income 7.3% 13.8%	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1% 26.2%	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4% 10.3%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7% 15.2%
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00 Low-Income 7.3%	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1%	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7%
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00 Low-Income 7.3% 13.8% 0.531	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1% 26.2% 0.232	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4% 10.3% 2.669	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7% 15.2% 0.570
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 Low-Income 7.3% 13.8% 0.531	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1% 26.2%	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4% 10.3%	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7% 15.2%
Tract 6118.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.8% 0.179 0.00 2.62 Low-Income 1.9% 13.8% 0.138 0.00 3.00 Low-Income 7.3% 13.8% 0.531	26.2% 0.292 0.00 African American 6.9% 26.2% 0.263 0.00 African American 6.1% 26.2% 0.232	10.3% 2.622 2.62 Asian 39.1% 10.3% 3.817 3.00 Asian 27.4% 10.3% 2.669	15.2% 0.554 0.00 Hispanic or Latino 9.0% 15.2% 0.593 0.00 Hispanic or Latino 8.7% 15.2% 0.570

		Low-Income	African American	Asian	Hispanic or Latino
Tract 6118.04	Tract Percent	4.8%	4.8%	29.7%	4.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.346	0.185	2.900	0.299
	(times Regional Average)				
	Index Score	0.00	0.00	2.90	0.00
	Total Index:	2.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6118.05	Tract Percent	6.0%	6.7%	10.8%	4.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.435	0.256	1.053	0.290
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 6118.06	Tract Percent	1.4%	9.2%	29.5%	7.1%
Tract 6118.06	Regional Average	1.4% 13.8%	9.2% 26.2%	29.5% 10.3%	7.1% 15.2%
Tract 6118.06	Regional Average Ratio of Concentration	1.4%	9.2%	29.5%	7.1%
Tract 6118.06	Regional Average Ratio of Concentration (times Regional Average)	1.4% 13.8% 0.099	9.2% 26.2% 0.351	29.5% 10.3% 2.880	7.1% 15.2% 0.468
Tract 6118.06	Regional Average Ratio of Concentration (times Regional Average) Index Score	1.4% 13.8% 0.099	9.2% 26.2%	29.5% 10.3%	7.1% 15.2%
Tract 6118.06	Regional Average Ratio of Concentration (times Regional Average)	1.4% 13.8% 0.099	9.2% 26.2% 0.351	29.5% 10.3% 2.880	7.1% 15.2% 0.468
Tract 6118.06	Regional Average Ratio of Concentration (times Regional Average) Index Score	1.4% 13.8% 0.099 0.00 2.88	9.2% 26.2% 0.351	29.5% 10.3% 2.880 2.88	7.1% 15.2% 0.468
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	1.4% 13.8% 0.099 0.00 2.88	9.2% 26.2% 0.351 0.00	29.5% 10.3% 2.880 2.88 Asian	7.1% 15.2% 0.468 0.00
Tract 6118.06 Tract 6119	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7%	9.2% 26.2% 0.351 0.00 African American 6.5%	29.5% 10.3% 2.880 2.88 Asian 45.8%	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7% 13.8%	9.2% 26.2% 0.351 0.00 African American 6.5% 26.2%	29.5% 10.3% 2.880 2.88 Asian 45.8% 10.3%	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7%	9.2% 26.2% 0.351 0.00 African American 6.5%	29.5% 10.3% 2.880 2.88 Asian 45.8%	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7% 13.8% 0.047	9.2% 26.2% 0.351 0.00 African American 6.5% 26.2% 0.248	29.5% 10.3% 2.880 2.88 Asian 45.8% 10.3% 4.466	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7% 15.2% 0.243
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7% 13.8% 0.047	9.2% 26.2% 0.351 0.00 African American 6.5% 26.2%	29.5% 10.3% 2.880 2.88 Asian 45.8% 10.3%	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.4% 13.8% 0.099 0.00 2.88 Low-Income 0.7% 13.8% 0.047	9.2% 26.2% 0.351 0.00 African American 6.5% 26.2% 0.248	29.5% 10.3% 2.880 2.88 Asian 45.8% 10.3% 4.466	7.1% 15.2% 0.468 0.00 Hispanic or Latino 3.7% 15.2% 0.243

2/8/2017 Draft Page **11** of **11**